
University of Louisville Chem 201 Exam 2 Dr. Hoyt Fall 2015
October 13

Do not open the exam until you are told to do so.

Cell phones and other electronic devices must be turned off and stowed out of sight (your sight and
mine).  Calculator policy is in effect.  Infractions will cost you points!

ALL outside paper must be stowed out of sight.  Unauthorized materials will result in your exam
being removed and a score of 0 assigned.  If you reach a point where you need more scratch paper than
the space available, ask a proctor.

Please clearly and legibly write your name, in ink, at the top of both pages of your answer sheet. 
Your score will not be recorded and your exam will not be returned if this is not done.

All answers should be rounded to the appropriate precision (correct significant figures.)

Atomic weights are provided in the Periodic Table. These values must be used.

Be certain your answers are clear. If an answer is not clear, it will probably be considered wrong.

Use your time effectively.

When authorized to open your exam, you may carefully remove this cover sheet.  When you are finished
with your exam, please turn in the two answer sheets.  Make sure your name is clearly written on every
page.

Time is up at 12:15!!

Potentially useful information:
6.022 × 1023

Molar mass values:
NO  30.01 S4N4  184.32 Ag2O  231.8 Ag2S  247.9

Solubility trends:
1. Group 1 (1A) compounds, ammonium compounds, and acids are soluble.
2. All nitrates, acetates, chlorates, and perchlorates are soluble.
3. Silver, lead, mercury(I) and copper(I) compounds are INSOLUBLE.
4. Chlorides, bromides, and iodides are soluble.
5. Sulfates are soluble except calcium sulfate and barium sulfate.
6. Compounds with anions of 2– or 3– charge are INSOLUBLE.
7. Hydroxides are INSOLUBLE except calcium hydroxide and barium hydroxide. 
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(remember to give net ionic, balanced rxn, and include phase labels.)

   

(remember to give net ionic, balanced rxn, and include phase labels.)

Scored grade (instructor use only!)____________

1.  Write balanced, net ionic chemical equations, with appropriate phase labels, for the following reactions.  In
both cases, you may use as much scratch space as you need, but write your final answer legibly in the box.
**a.  [10 pts] The reaction of aqueous mercury(II) perchlorate and aqueous potassium sulfide.  

**b.  [10 pts] The reaction of aqueous ammonia and aqueous hydrofluoric acid.

2.  [2 pt each] Give the correct oxidation number for the underlined element in each chemical species below.

    H3AsO3 __________ H2 ___________ ClO2 ____________

** H2S3 __________ C6H4Cl2 ___________ MgH2 ___________

3.  [2 pts each]

**(a)  give the formula of oxalic acid: ___________________________________

(b)  give the formula of ammonium dihydrogen phosphate: ___________________________________

**(c)  give the name of HCN: ___________________________________

(d)  give the name of HIO4: ___________________________________

(e)  give an example of a weak electrolyte: ___________________________________ 
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4.  **(a)  [6 pts] Balance the following redox reaction, occurring in aqueous solution.  We’ll grade the answer in the
box, so make sure it’s clearly legible.

(work space:) ___ S2O6
2–   +   ___ H2O   +   ___ IO–     ÿ    ___ SO2   +   ___ IO3

–    +   ___ OH–    

(b)  [2 pts each]  In the above reaction, what is:

the element reduced? _______________ the reducing agent? _______________

an element whose oxidation number does not change in the reaction? _______________

(c)  [1 pt each] What is the highest (most positive) possible oxidation number for S?  _________

What is the lowest (most negative) possible oxidation number for S? _________

5.  (a)  [6 pts] In the list below, circle all substances that are INSOLUBLE in aqueous solution.

NH4HS Fe(NO3)3 Ag2S Ir(OH)2 Mg3(PO4)2 WO2

(b)  [6 pts] In the list below, circle all substances that are strong electrolytes.  Draw a rectangle around any species
that are weak electrolytes. 

hypochlorous acid methane lead(IV) nitrate

H2SO4 aluminum hydroxide barium hydroxide

6.  [2 pts each] Clearly label each statement as TRUE or FALSE.  If we can’t tell which you mean, it’s wrong.

_________  ** Barium hydroxide is a strong electrolyte.

_________ ** When zinc chloride dissolves in water, there are twice as many cations as there are anions present in
the solution.

_________  ** When HF dissolves in water, water pulls apart all the molecules of HF.

_________  ** H+ is always a spectator ion in an acid/base reaction.

_________  A solution of HClO2 contains HClO2 molecules, H+ ions, and ClO2
– ions.

_________ In a redox reaction, the number of electrons lost by the reducing agent usually equals the number of
electrons gained by the oxidizing agent, but this is not required.

_________  In a balanced reaction, the total number of molecules must be the same in the reactants and products.

(final answer:)
___ S2O6

2–   +   ___ H2O   +   ___ IO–     ÿ    ___ SO2   +   ___ IO3
–    +   ___ OH–    
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7.  In the problems that follow, SHOW YOUR WORK on this page (or clearly indicate where your setups can be
found and evaluated).  Write your answers, rounded appropriately and with unit(s), in the spaces provided.

The following equation is balanced:

Si (s)  +  4 HF (aq)  ÿ  SiF4 (g) +  2 H2 (g)

(a)  [3 pts]  What mass of HF is required to prepare 5.00 L of 1.00 M HF?  (Show work/round answer/include unit)

(Answer:________________________)

(b) [3 pts] What volume of 1.00 M HF is required to react completely with 30.0 g of Si?  (Show work/round
answer/include unit)

(Answer:________________________)

(c)  [5 pts]  A 2.02-g sample of Si is added to 250.0 mL of 1.0 M HF. How much SiF4 is produced? (Show
work/round answer/include unit)

(Answer:________________________)

(d) [4 pts]  In the reaction in Part (c), which reactant is in excess, and what is the mass of the excess reactant
remaining after the reaction? (Show work/round answer/include unit)

Reactant in excess _________________      Mass remaining ________________________

8.  [3 pts]  In the space provided, draw a simple sketch
showing the interaction between an aqueous aluminum
ion and a water molecule.  Represent relevant charges
accurately.


